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https://www.100test.com/kao_ti2020/644/2021 2022 E5 BE AE_
E8 BD AF E8 AE_A4 E8 c100 644705.htm hich of the following
explains why the performance of a client with a shared printer in an
nt domain is not affected? the domain controller performs all the
spooling. the job is converted from emf to raw on each client pc
prior to being sent to the server pc. the clients all share a network
version of the printer driver. correct answer is b what type of
memory is available to msdos apps in win95 (choose three)? my
answers: extended, expanded, conventional. other choice was paged.
name two reasons that win95 says that it has a conflict between two
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